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B F AutoCAD ¥F % % & #r 4 (I: ARC,CIRCLE,PLINE %) A K& % 8 fy & (4n.
STRETCH.EXTEND,TRIM %) 2475 L ¥ 2D &7 RR#4T. B LR ATER1E 3D K
B, 6 B FE S 4E 2 R R ESE UCS (I P AR R A0 BUE L4 A9 AL B L 4R )5 1R 3 57 Y A A
AERBMAEWAE, RREFHLIZTE LHBXYER, 2 /5 FEFHF LR (World Co-
ordinate) , BT A% EF B AR A UCS, B RA — M HE—"HH R FIAERNTT LR
ERES O PR ARIRER (UCSICON) K TR URTLIR AL EL. B —FHRAIER
B —T AutoCAD # UCS 14,

UCS i %4 %:>]

"l = A\ AutoCAD, Frig—3kHTE .
= F§ VPOINT & TSR 77" € & 489 FAT R S (AED

020'



= f§ ZOOM C (Cente) I F AR EB YK FREETEE.
= B LINE & 44258 L X,Y,Z Z&MELE 1-D.

Command: VPOINT
Rotate/<View point> <0.0000,0.0000,1.0000>: 1,-2,1.5 ¢ 1:F 4. 8D

Command: ZOOM .
All/Center/Dynamic/Extents/Left/Previous/Vmax/¥indow/<Scale(X/XP)>: C

Center point: 0,0 (BB P Q)
Nagnification or Height <16.4317>: 19 (RENEERE
Command: LINE (B X %)

From point: -10,0

To point: 10,0

To point:

Command: LINE - (BY H)
From point: 0,-10

To point: 0,10

To point:

Command: LINE (B Z%)
From point: 0,0,0 KR
To point: 0,0,5 (FEHL)

To point:

@ Layer 8 9.5394, 10.3421 EW

8,-18

A\

(Y

Co

To point: 9,08,5
To point:
Command :




= FI CIRCLE 14 £ 5 447 (RAX 4470, 0GR AD LB — 42 3 1 CL I
1-2).

Command: CIRCLE
3P/2P/TTR/<Center point>: 0,0
Diameter/<Radius>: 3

@ Layer 8 5.5973, 18.2263

i

DRAW
EDIT

% — SRER (v KAL)
A .

3P/2P/T1R/<Center point)>: 8,8
Diameter/<Radius>: 3
Command : !

A 1-2

= PUfT UCS @4, {EAIRLSEH X #h%% 00°, GEEERHFLETALEERNENL
= FF] CIRCLE @14 FEH M ALIR RS 10,0 B —¥2H 3 (9B (LA 1-3),

Command: UCS
Origin/ZAxis/3point/Entity/View/X/Y/Z/Prev/Restore/Save/Del/?/<Norld>: X
Rotation angle about X axis <0>: 90

Command: CIRCLE
3P/2P/TTR/<Center point>: 10,0
Diameter/<Radius>: 3




BLayer 8 14.7184, 18.822¢

s

iy

CIRCLE 3P/2P/ITR/<{Center point)>: 18,8
Diameter/<Rad fus> <3.88088)>:
Command :

A 1-3

= S UCS 4, 8 S(Save) {B 4 BT 447 R 4t F “FRONT "y Z PR AR .

= FIT il UCS @4, EAR PR MATHY Y M5 90°. CEEBERBLE T ALGAE
R

= Fi CIRCLE @4 7EHf9 AR FR R 45 10,0 LbE— 442 % 3 ME CLE 1-4),

Command: UCS
Origin/ZAxis/Spoint/Entity/Vie\v/X/Y/Z/Prev/Restore/Save/De1/?/<!Iorld>: S

?/Desired UCS name: FRONT

Command: UCS ’ .
Origin/ZAxis/3DOint/Entity/View/X/Y/Z/Prev/Restore/Save/De1/?/<7Iorld>: Y

Rotation angle about Y axis <0>: 80

Command: CIRCLE
3P/2P/TTR/<Center point>: 10,0
Diameter/<Radius> <3.0000>: 3




29.4209, -11.8223

Hlayer 0

| LAST__
L
oIt

CIRCLE 3P/Zr/TTR/{Center point>: 10.8
Diameter/<Radius)> <3.0008)>:
Conmand :

A 1-4

= 5 LINETYPE fy$4E481% B “DASHED”,
= REH LINE @4 FE=ZRKBRE 1-DE M ZABER - =ZEZRAEH

“BEFL(LE 1-5.

Command: LINETYPE

?/Create/Load/Set: S .

New entity linetype (or ?) <BYLAYER>: DASHED
?/Create/Load/Set:

Command: LINE
From point: END
of (& 1)

To point: END
of (K 2)

To point: END
of (XK 3)

To point: C




Mlayer 8 29.4209, -8.727%5 toCAD

A 1-5

n = [A#H# A UCS M4, %5 S(Save) B Y BTH AL 47 R4 “RIGHT "Hy B R

;Ko :
= F A UCS 14, 1% 3 M Gpoint) { F RKE HFH LR RECEERERLT A

ARERAEL . BLE 1-6,

¥

Command: UCS
Origin/ZAxis/3point/Entity/View/X/Y/Z/Prev/Restore/Save/Del/?/<World>: S
?/Desired UCS name: RIGHT

Command: UCS
Origin/ZAxis/3point/Entity/View/X/Y/Z/Prev/Restore/Save/Del/?/<¥ ~1d>: 3
Origin point <0,0,0>: END ‘

of (K1)

Point on positive portion of the X-axis <1.0000,0.0000,-10.0000>: END

of (&K 2)

Point on positive-Y portion of the UCS XY plane <0.0000,-1.0000,-10.0000>:END

of (K3)




B Layer 8 25.6916,18.8446

Poin{ on positive-¥ portion of the UCS XY planc <8.0888,1.8000,8.8088): END
of

Command :

A 1-6

= P47 UCSICON 14, i%# OR (Origin) 4848 17 B 5 B 31 24 BT #Y R A4
= B A LINETYPE @4 {8 &8FF R “BYLAYER”,
= RRJ5 Al CIRCLE #1447 0, 0K BB A AR R RO AL B — 2420 3 (B (LE 1-7).

Command: UCSICON
ON/OFF/A11/Noorigin/ORigin <ON>: OR CRAERZ TALKERYS B Y LRNE L) |

Command: LINETYPE

?/Create/Load/Set: S

New entity linetype (or ?) <DASHED>: BYLAYER
?/Create/Load/Set:

Command: CIRCLE
3P/2P/TTR/<Center point>: 0,0
Diameter/<Radius> <3.0000>: 3




Wiayer 9 23.4856, 18.9779

+ H ﬁi% ;ﬁ 0’0

L AAST__
o
DIr

CIRCLE 3P/2P/1TR/<(Center point>: 8.8
Diameter/cRadius> <3.0080)>:
Command :

A 1-7

n = PAT UCS fr 4, 35 V (View) RIF RS AN S0 T LA 2480 57 5 9 WEEJ7 171 3K %€ 1 BT B9
BIRRGCEEBARERMENL . LE 1-8.

Command: UCS
Origin/ZAxis/3point/Entity/View/X/Y/Z/Prev/Restore/Save/Del/?/<¥orld>: V




n = 47 UCS frd, ## O (Origin) B IR A BEIFH AL E.
= FifH CIRCLE f4- 18 0,04 BT 40 b — 448 3 4 [H GER S TE A% L
BREN—AER". LE 1-9.

Command: UCS
0rigin/ZAxis/3point/Entity/View/X/Y/Z/Prev/Restore/Save/Del/?/<lorld>: 0
Origin point <0,0,0>: END

of (KWWM1-8 1afE)

Command: CIRCLE
3P/2P/TTR/<Center point>: 0,0
Diameter/<Radius> <3.0000>: 3

------ /
- /
\ /
/
\
\ /
\
\\ /
V%
X
+: KEM K 0,0
& 1-9

> U UCS 14, A E(Entity) 5 E 7G40 77 R85 55 2 T (BD — B LI R A
(LA 1-10),

Command: UCS
0rigin/ZAxis/3point/Entity/View/X/Y/Z/Prev/Restore/Save/Del/?/<llorld>: E
Select object to align UCS:  (KERE&E# 1 643

¢« 10 *



Blayer 8 17.4523, 24.5269

previous

|_LAST__
mIr

Drig in2hx is/3point/Ent ity View X ¥/2/Prev/Restore/SavesDel/7/<lorld>: E
Select object to align UCS:
Command

& 1-10

-

= #1147 UCS %14, i R (Restore) B Fl JE ¥ F “FRONT 5 fF a9 A7 R 48 (I 1-1D),

Command: UCS
Origin/ZAxis/3point/Entity/View/X/Y/Z/Prev/Restore/Save/Del/?/<¥orld>: R
?/Name of UCS to restore: FRONT (BHRRELEH)

WLayer @ 14.7104,18.40832

Origin/Zaxis/3point/Entity View X/ ¥/Z/Prev/Restore/Save/Del 7/ lor1d>: R
TMane of UCS to restore: FRONT
Command : :

B 1-11

ollo



= 4T UCS fr 4, 4% W (World) | B “th 7747 R4 GER R IRERFBRA B
}Fﬁ69§251:f§,ﬁﬁi%??EE%Eﬁiﬁiﬂéﬁﬁéﬁﬁﬁﬁi&b)o A 1-12.

Command: UCS
Origin/ZAxis/3point/Entity/View/X/Y/Z/Prev/Restore/Save/Del/?/<World>: W

M Layer 8 9.4657, 10.4895

Command : UCS -
Origin 2Axis/3point/Ent itysView X/¥/2/Prev/Restore/Save/Del 7/<World>:

Command :

A 1-12

— F LT UCSICON 47 4, 3 N (Noorigin) {EA fRE S B E R M 2 T 9 ULA 1
13),

Command: UCSICON
ON/OFF/Al1/Noorigin/ORigin <ON>: N

e 12



Hlayer B 14.7986, -3.9758

L_LAST__
DRAN
EDIT

Compand : UCSICON
OM/OFF/A1 1 Noorigin/ORigin <ON>: N
Command :

K 1-13

, = f CHPROP @y 44EaTH E ) 5 1~ E# THICKNESS(EBD AR 1GERE . BEE
f B B D IE XS & S RTR A, BT A B R HEE) . WA 1-14.

Command: CHPROP

Select objects: 1 found (RFRBRWE S 5 MED
Select objects: 1 found

Select objects: 1 found

Select objects: 1 found

Select objects: 1 found

Select objects:

Change what property (Color/LAyer/LType/Thickness) ? T (EE)
New thickness <0.0000>: 1

Change what property (Color/LAyer/LType/Thickness) ?

013a



MNow thickness <0.8880>: 1
Change ubat property (Color/LAyer/LIype/Thickness) 7
Command :

* A 1-14

= RJE T HIDE fr 4, B— T MRBRIKL S0 R (LE 1-15).

Command: HIDE
Regenerating drawing.
Hiding lines 100% done.

New thickness <0.0888>: 1
Change what property (Color/LAyer/LType/Thickness) 7
Command :

& 1-15

e 14



& ®

£ LB ST P, BIVRMEMIE UCSH P ARRGEOKI M HFNLEXE—1TF
JE & (Thickness)# [H , it R AT TR RIARZ — T =42 W HH LAEBOR , 4R UCS @ d 14
A—BHEHETW Prev 7] MRE AT —KE UCS, EETTU BT IEE, ET ZAxis &
TLAEENBRSHBE. BAERSUNEATEEL X85 Y #E, RITA BB Fi
.

015c



g2 BOSRAM R
(VPORTS and VPOINT)

(T ¥

3D B 5 2D BRAWMARARRNTL AL H EZ M50 F AR A ERRE FHR
A, FILR TR AutoCAD # VPOINT iy 4 ¥ 1H 18 4 ¢ FAT B I R (AED . B
B 1 UL f R R8T AutoCAD #) VPORTS i 41 1F B R 88 53 1 AL
BT O, ZEIX BT 01 P4 IR R R IR B VLR A B B P L IE LT LU SLTE L S A B
Mo A R SRR R 9F HE RS 0 B L R AT AR R 4 T ORI ER X P
A 4R ILIT AutoCAD 43 HI E H #Y K .

¢ 16



B Layer 8 494.7585,293.5233 JputoCAD

N DRAW

A

New value for TILEMODE <@>: 1
Regenerating drauing.
Command :

(AutoCAD 7ENMEFEHI T (TILEMODE = 1) 0 /4 ¥ 7E)
A 2-1

VPORTS 5 VPOINT 4% >]

= A AutoCAD,FiE—ikH & .
= H ZOOM C(Center) il F RiF BB LB FEEREE .
= F LINE 14 (0 2-2)E H 5 5 K45 B A LR 5 R

Command: ZOOM
All/Center/Dynamic/Extents/Left/Previous/Vmax/¥indow/<Scale(X/XP)>: C
Center point: 0,0 (RERE P Q)

Magnification or Height <9.0000>: 25 (FEBEHE)

Command: LINE
From point: -10,0
To point: 10,0
To point: 10,10
To point: 0,10
To point: 0,-10
To point:

e« 17



